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	2017 Sep New Braindump2go 300-365 Exam Dumps with PDF and VCE Free Updated Today! Following are some new 300-365

Questions:1.|2017 New 300-365 Exam Dumps (PDF & VCE) 70Q&As Download:https://www.braindump2go.com/300-365.html  

2.|2017 New 300-365 Exam Questions & Answers Download:

https://drive.google.com/drive/folders/0B75b5xYLjSSNZTJ3Y0Z5b0NFRFE?usp=sharing QUESTION 51Refer to Exhibit. What

two items need to be supported on the VoWLAN phones in order to take full advantage of this WLAN configuration? (Choose two.)

 A.    APSDB.    802.11aC.    802.11eD.    WMME.    802.11rF.    SIFS Answer: CD QUESTION 52What is the best practice for

setting the WLC v7.0 use of WLAN QoS settings to support SIP phones on a VoWLAN? A.    Configure SIP with static CAC only

with SIP call snooping.B.    Configure SIP with static CAC only without SIP call snooping.C.    Configure SIP with load-based CAC

only with SIP call snooping.D.    Configure SIP with load-based CAC only without SIP call snooping.E.    Configure SIP with

load-based CAC and TSPEC only with SIP call snooping. Answer: A QUESTION 53A corporation has a Cisco Unified Wireless

Network that has been deployed for voice coverage. The wireless data rates have been tuned to mandatory rates of 18 Mbps and 36

Mbps. Some wireless clients have been experiencing drops streaming multicast video while moving throughout the building. What is

the cause of the drop in video? A.    Clients are roaming at lower data rates and are not maintaining 36Mbps connectivity.B.   

Clients are not roaming due to coverage. This is causing the multicast data to drop due to the client re-associating often.C.    Clients

are connected at 18Mbps; however, other clients are connecting at 12Mbps and are causing the multicast video to degrade.D.   

Clients are maintaining a 12Mbps rate and cannot receive the stream at 18Mbps. Answer: A QUESTION 54Which network is

connected by default when connecting to the unused Ethernet port of a MAP? A.    the native VLAN that the MAP is connected toB.

   the VLAN that is associated with WLAN number 1 in the WLCC.    the native VLAN that the WLC is connected toD.    the

VLAN that is associated with the SSID that the MAPs are communicating on Answer: A QUESTION 55What are two functions of

the RAP in a mesh network? (Choose two.) A.    It provides a wired connection for the wireless mesh APs.B.    It adds capacity and

resilience to a mesh area.C.    it creates a centralized management location for the mesh network.D.    it reduces the hop count to the

wireless network that is connected to the edge.E.    it routes traffic from the wireless mesh to the wired network. Answer: BD

QUESTION 56A customer has limited staff to manage a wireless network. The customer wants a solution that requires minimum

hardware. Which type of architecture do you propose? A.    centralizedB.    distributedC.    cloud-basedD.    unified Answer: A

QUESTION 57A customer called into the support center with a problem ticket that involves wireless clients having to reauthenticate

when they are walking around their office. After further investigation, it was discovered that the customer has two controllers in an

N+1 deployment. Which action must the engineer take to troubleshoot the issue? A.    Verify that the wireless controllers are in the

same mobility group and that the access points are all on the primary controller.B.    Under the SSID, make sure that 802.1 Iris

configured and running for the clients.C.    Make sure that the SSID has the authentication set to 802.1x with Cisco Centralized Key

Management so the data clients can roam seamlessly.D.    Verify the access points are spread out between the primary and secondary

controller and that the controllers are in the same mobility group. Answer: D QUESTION 58A customer has implemented a wireless

network that requires tuning for High Density applications utilizing the RX-SOP feature. They are experiencing a high noise floor

(average of -65 dBm) and expect that to decrease significantly. A sampling of radios determine that most Access Points have

neighbors on the same channel at a power level of -75 dBm. Which value should the customer use to start tuning RX-SOP? A.    -60

dBmB.    -65dBmC.    -70 dBmD.    -75 dBmE.    -80 dBm Answer: C QUESTION 59A client reports that video is not streaming.

The administrator determines the client is connecting at a data rate of 12 Mbps and is trying to stream to a valid multicast address on

the network. What three items should the administrator check next to troubleshoot the issue? (Choose three) A.    IGMP snooping is

turned off because the client cannot request to join a group, only access points can.B.    Video-stream for the multicast video is

configured in the controller.C.    WLAN has been set for a QoS value of Platinum.D.    WLAN has been configured to allow

multicast-direct to work correctly and multicast- direct has been enabled globally.E.    WLAN has been set for a QoS value of Gold.

F.    RTSP is used to stream the video due to wireless multicast not using acknowledgements. Answer: BDE QUESTION 60On

which AP radio or radios is Cisco WGB association supported? A.    2.4 GHz onlyB.    2.4 or 5 GHz onlyC.    2.4, 5, or 4.9 GHzD.   

5 GHz only Answer: B  !!!RECOMMEND!!!  1.|2017 New 300-365 Exam Dumps (PDF & VCE) 70Q&As Download:

https://www.braindump2go.com/300-365.html   2.|2017 New 300-365 Study Guide Video: YouTube Video: 

YouTube.com/watch?v=h9iX_dHUEPs

        Output as PDF file has been powered by [ Universal Post Manager ] plugin from www.ProfProjects.com |  Page 1/1  |

http://www.mcitpdump.com/?p=7242
http://www.youtube.com/watch?v=h9iX_dHUEPs
http://www.profprojects.com/?page=upm

